Swe 15:  INVERT THE SUBJECT ANDVERB WITH QUESTION WORDS

There is some confusion about when to invert the subject and verb after question words
such as what, when, where, why, and hew. These words can have two very different functions
in a sentence. First, they can introduce a question, and in this case the subject and verb
that follow are inverted.

What is the homework?
When can I leave?

Where are you ﬂ?
Also, these words can join together two clauses, and in this case the subject and verb that
follow are not inverted,

['do not know what the homework is.

When 1 M. Lwill take the first train,

Do you know where you are going?

In each of these examples there are two clauses joined by a question word, Notice that the
subjects and verbs that follow the question words what, when, and where are not inverted in
this case.

The following example shows how this sentence pattern could be tested in structure
questions on the TOEFL test.

Example from the Paper and Computer TOEFL® Tests m

The lawyer asked the clientwhy ___it.

(4) did he do
(B) didhe
(C} hedid
(D) did

In this example the question word why is used to connect the two clauses, so a subject and
verb are needed after this connector; this is not a question, so the subject and verb should
not be inverted. The best answer is therefore answer (C).



The following chart lists the question words and their sentence patterns:

INVERTED SUBJECTS AND VERBS WITH QUESTION WORDS

who whet when where why how

When the question word Introduces a quesion, the subject and verb are inverted,

question word ¥V §1
What ore they!

When the question word connects two clauses, the subject and verb that follow are not inverted,

SV (gmwd) 5 Y

| knaw what they are,

EXERCISE 15: Each of the following sentences contains a question word. Circle the ques-
tion words, Underline the subjects once and the verbs twice. Then indicate if the sentences
are correct (C) or incorrect (I).

—L_ 1. The phone company is not certain will the new directories be ready,
L 9 The professor does not understand so many students did poorly on the exam.

___ 3. Hownew smdents can get information about parking?
—— 4. Where is it cheapest to get typeset copies printed?

—— 5. Onlythe pilot can tell you how far can the plane go on one tank of fuel,

SkiLe 1§ INVERT THE SUBJECT ANDYERB WITH PLACE EXPRESSIONS

After ideas expressing place, the subject and the verb sometimes invert in English. This can
happen with single words expressing place, such as her, there, or nowhere.

Here 5 the book that you lent me.

There are the keys that I thought Iost.

Nowhere have !secn such beautiful weather,



In the first example the place word hérecauses the subject ook o come after the verb ic. In
the second example the place word there causes the subject keys to come after the verb are,
In the last example the place word nowhere causes the subject I'to come after the verb have,

The subject and verb can also be inverted after prepositional phrases expressing place.

fn the claset are the clothes that you want,
Around the corner 1s Sam's house,

Brymid e teountzing lies the town where vou will live.

In the first example the prepositional phrase of place in the closel causes the subject elothes
to come after the verb are In the second example the prepositional phrase of place
arpund the corner causes the subject Aouse to come after the verb is, In the last example the
prepositional phrase of place beyond the mountains causes the subject foun to come after
the vert fies.

It is important (and a bit difficult) o understand that the subject and verb will invert
after place expressions at the beginning of a sentence only when the place expression is
necessary to complete the sentence. Study the following examples:

In the forest are many exotic birds,
In the forest 1 walked for many hours.

In the first example the subject birds and verb areare inverted because the place expression
in the forest is needed to complete the idea many exodic birds are.... In the second example
the subject fand the verb waelbed are not inverted because the idea T walked for many hours is
complete without the place expression in the forest; the place expression is therefore not
needed to complete the sentence,

The following example shows how this sentence pattern could be tested in structure
questions on the TOEFL test.

Example from the Paper and Computer TOEFL® Tests (E5) 238

On the second level of the parking lot —.

{A) is empty

{B) areempty

{C} some empty stalls are
(D) are some empty stalls

This example begins with the place expression on the second level of the parking lot, which con-
sists of mwo prepositional phrases, on the second levef and of the paking lot. This sentence
needs a subject and a verb to be complete, and the two answers that contain both a subject,
stalls, and verb, are, are answers (C) and (D). The subject and verb should be inverted
because the place expression is necessary to complete the idea some empty stalls are. ... The
best answer is therefore answer (D).



The following chart lists the sentence patterns used with place expressions:

INVERTED SUBJECTS AND VERBSWITH PLACE EXPRESSIONS

WWhen a place expression at the front of the sentence is necessory to complete the sentence, the
subject and verh that follow are iverted.

(apemam) VS

In the classroom ware some old dasks,

Y¥hen a place expression at the front of the sentence containg extra infarmation that is not needed
to complete the sentence, the subject and verb that follow are not inverted.

RN

In the classroom, | studied very hard.

EXERCISE 16: Each of the following sentences contains an expression of place at the
beginning of the sentence. Circle the expressions of place. Look at the clauses that imme-
diately follow the place expressions and underline the subjects once and the verbs twice.
Then indicate if the sentences are correct (C) or incorrect (I).

& 1. (infront of the house) were some giant trees,
[EE—— —
L2 a big house is on the corner.

—— 3. Inthe cave was a vast treasure of gems and jewels.
— 4. Tothe notth the stream is that the settlers will have to cross,

— 5. Around the corner are the offices that you are trying to find.

Sk 17:  INVERT THE SUBJECT AND VERB WITH NEGATIVES

The subject and verb can also be inverted after certain negatives and related expressions.
When negative expressions, such as no, nof, or never, come at the beginning of a sentence,
the subject and verb are inverted.



ot ence did [ miss a question,
T E—
Me 3 Mr, Jones taken a vacation.
rver has Mr, Jones taken ation
At no time can the woman talk on the telephone.

In the first example the negative expression sot once causes the subject fto come after the
helping verb did. In the second example the negative word sever canses the subject Mr
jﬂl\lﬁ to come after the hc]ping veerb s In the last example the nr.gativc cxprr:ssi,nn af na
dime canses the subject woman wo come after the helping verb can.,

Certain words in English, such as hardly, barely, scarcely, and ondy, act like negatives,
If one of these words comes at the beginning of a sentence, the subject and verb are also
inverted.

Herdly ever does he take time off,
{This means that he almost never takes time off))

Oniy once did the manager issue overtime paychecks,
{This means that the manager almase xever issued overtime paychecks.)

In the firse example the "almost negative” expression Aerdly qer causes the subject ke to
come after the helping verb does. In the second example the “almost negative”™ expression
orily orice canses the subject manager to come after the helping verb did,

When a negative expression appears in front of a subject and verb in the middle of a
sentence, the subject and verb are also inverted. This happens often with the negative
words neither and nor

Tdo notwant to go, and nethe does Tom,
The secretary is not attending the meeting, noris her boss.

In the first example the negative neither canses the subject Tom to come after the helping
verh does. In the second example the negative nor causes the subject boss 1o come after the
verb s,

The following example shows how this sentence pattern could be tested in structure
questions on the TOEFL test,

Example From the Paper and Computer TOEFL® Tests @ m

Cnly in extremely dangerous situations stopped.

{A) will be the printing presses
(B} the printing presses will be
() than the printing presses will be
(D} will the printing presses be

In this example you should notice that the sentence beging with the negative orly, so an
inverted subject and verb are needed. Answer {[}} contains a correctly inverted subject and
verh, with the helping verb will, the subject printing presses, and the main verb e, so answer
(13} is the best answer,



The following chart lists the negative expressions and the sentence pattern used with

them:

INVERTED SUBJECTS AND VERBS WITH NEGATIVES

no not never neither nor
barely hardly only rarely scorcely seldom

V¥hen a negative expression appears in fiont of a subject and verb (at the beginning of a sentence or
in the middle of a sentence) the subject and verb are inverted,

(o) Vs

Rarely were they so happy.

EXERCISE 17: Each of the following sentences contains a negative or “almost negative”
expression, Circle the negative expressions. Look at the clauses that follow and underline
the subjecr_é' once and the verbs twice, Then indicate if the sentences are correct (C) or
incorrect {I).

-

—_

2,

5.

the boy wrote to his sisters,

Steve did not win the prize, nor did he expect to do so,
Only once in my life gone I have to New York City.
Did he go out of the house at no time.

Seldom their secretary has made such mistakes,

SKiLL 18:  INVYERT THE SUBJECT AND YERB WITH CONDITIONALS

In certain conditional structures, the subject and verb may also be inverted. This can occur
when the helping verb in the conditional clause is had, should, or were, and the conditional
connector if is omitted.

If he had taken more time, the results would have been better.

Had he taken more time, the results would have been better,



Ivould help you ﬂ were in a position to help.

Iweould help you were Lin a positon to help,

EE should arrive before 6:00, just give me a call.
Should you arrive before G:00, just give me 3 call,

Iny each of these examples you can see that when i isincluded, the subject and verb are in
the regular order (if be had taken, if T were, if you showld arrive). It is also possible to omit if in
this case, the subject and verb are inverted (had he laken, were 1, should you arre).

The following example shows how this sentence pattern could be tested in structure
dquestions on the TOEFL test.

Example from the Paper and Computer TOEFL? Tesis @E EE

The report would have been accepted in checking its accuracy,

. [A) il more care
(B) maore care had been aken
[C) had taken more care
([} had more care been taken

In this example a eonnector if and a subject and verb are necded, but if could be omitted
and the subject and verb inverwed. Answer (A) is incorrect because it contains the connec
tor if and the subject care but no verb. Answer (B} is incorrect hecause it contains the sub-
ject eareand the verl had been teken but does not have a connector. In answers (C) and (D},
if has been omitted. Because it is correct to invert the subject more care and the helping
verb Aad, answer (D) 15 correct.

The following chart lists the conditional verbs that may invert and the sentence pat-
terns used with them:

IMVERTED SUBJECTS AMDVERBSWITH COMDITIOMALS

had should were

WWhen the verb in the conditional clause is had, should, or were, |tz possible to amic ifand inver the
subject and verb.

{omilced if) ¥V 5
Were he  here, he would help.

It is alsa possible to keep i Then the subject and verb are not inverted.
if 5 ¥
if he were here, he would help.




EXERCISE 18: Each of the following sentences contains a conditional with a stated or an
implied if. Circle the conditionals, or put an asterisk (¥) where if has been omitted. Look
at the clauses that follow and underline the subjects once and the verbs twice. Then indi-
cate if the sentences are correct (C) or incarrect (1),

L 1 *Were our neighbors a bit more friendly, it would be somewhat easier 1o get o know
them.

L9 Thereare plenty of blankets in the closet if should you get cold during the night.
— 3. Hashe enough vacation days left this year, he will take two full weeks off in December.
—— 4. Had we been informed of the decision, we might have had something to say about it.

— 5. [would like to know could you help me pack these boxes.

SkiLL 19:  INVERT THE SUBJECT AND YERB WITH COMPARISONS

An inverted subject and verb may also occur after a comparison, The inversion of a subject
and verb after a comparison is optional, rather than required, and it is a rather formal
structure, There have been a number of inverted comparisons on recent TOEFL tests, so
you should be familiar with this structure.

My sister spends more hours in the office than John,
My sister spends more hours in the office than John does.

My sister spends more hours in the office than does John.

All three of these examples contain the comparison more. .. than, and all three are correct
in English. It is possible to have the noun John alone, as in the first example; it is possible
that the comparison is followed by the subject and verb John does, as in the second example;
it is also possible that the comparison is followed by the inverted subject and verb doet John,
as in the third example.

The following example shows how this sentence pattern could be tested in structure
questions on the TOEFL test.



Example from the Paper and Computer TOEFL® Tests [E8] 18

The results of the cuicrent experment appear (o be moee
consistent than the results of any previous tests,

{A) rthem
(B} were
{C) theywere
(1Y) were they

In this example you should notice the comparison sere consistent than, and you should also
understand that the results of the curren! sxperiment 18 being compared with the resufly of any
previous tests, Because the results of any previous fests is the subject, only a verb is needed; the
best answer to this question is therefore answer (B). We know that it is possible for a sub-
ject and a verb to be inverted after a comparison, and in this case the subject the resulls of
ary prrevivns teits comes after the verb wer,

The Following chart lists the sentence paterns used with comparisons:

INVERTED SUBJECTS AND VERBS WITH COMPARISONS

The subject and verb may invert aﬁﬂ"ammpmmn.' The following structures are both passible.

S v (comprion) | s v

We  were  mare prepared than I‘JH other performers  were,

S v Ceompren) v s

We  were mﬂnpr‘jm'md'thnn were  the ather performers.

NOTE: A subject-verb inversion after 3 comparison sounds rather formal

EXERCISE 19: Each of the following sentences contains a comparison. Circle the compar-
isons. Look at the clauses that follow and underline the subjects once and the verbs twice,
Then indicate if the sentences are correct () or incorrect (I).

_|_:_ 1. This candidate haﬂ_rcn:ciw:d hj any other candidate in previous

years,

1 2 Obdously we were :rILlEtLI:I'I'It'IIEE impressed with the performance than) did the other

members of the andience,

— & The film that we saw last night an the festival was far bewer than any of the other films,

—— 4, Thevegetables at the market this morning were far lresher than were those at the
market yesterday.

—— 5 1 am afraid that is the condition of these tires as bad as the condition of the others.



TOEFL EXERCISE (Skills 15-19): Choose the letter of the word or group of words that
best completes the sentence.

1. Rarely — located near city lights or at 6. Potassium has a valence of positive one

. Were

. Nowhere

lower elevations.

(A) obscrvatories are
(B) are

(C) in the observatories
(D) are observatories

. There are geographic, economic, and
cultural reasons why around the
world.

(A) diets differ

(B) do diets differ
(C) are diets different
(D) to differ a diet

millions of dollars each year
replenishing eroding beaches, the
coastline would be changing even more
rapidly.

(A) the U.S. Army Corps of Engineers
not spending

(B) the U.S. Army Corps of Engineers
not spend

(C) the U.S. Army Corps of Engineers
does not spend

(D) notspending the U.S. Army Corps
of Engineers

more skewed than in the

auto industry.

(A) thatretail trade figures
(B) retail trade figures are
(C) are retail trade figures
(D) retail trade figures

. New York City's Central Park is nearly
twice as large second smallest
country, Monaco.

(A) as

(B) isthe
(C) asis
(D) asisthe

because it usually loses one electron
when with other clements.

(A) does it combine
(B) itcombines

(C) in combining
(D) combination

. The economic background of labor

legislation will not be mentioned in this
course, be treated.

(A) trade unionism will not
(B) nor trade unionism will
(C) nor will trade unionism
(D) neither trade unionism will

. —— test positive for antibiotics when

tanker trucks arrive at a milk processing
plant, according to federal law, the
entire truckload must be discarded.

(A) Should milk
(B) If milk
(C) Ifmilkis
(D) Milk should

. Located behind — the two lacrimal

glands.

(A) each eyelid

(B) is each eyelid

(C) each eyelid are

(D) each eyelid which is

. Only for a short period of time —

run at top speed.

(A) cheetahs

(B) do cheetahs

(C) thata cheetah can
(D) can



PROBLEMS WITH SUBJECT/VERB AGREEMENT

Subject/verb agrecment is simple: if the subject of a sentence is singular, then the verb
must be singular; if the subject of the sentence is plural, then the verb must be ploral. An g
on a verb uswally indicates that a verb is singular, while an 5 on a noun usually indicates thay
the noun is plural, (Do not forget irregular plurals of nowns, such as wonen, ohildren, and
people )

The oy walks w school.

The hﬂ‘s walk 1o schoal.

In the first example the singular subject boy requires a singular verb, walks, In the second
example the plural subject foys requires a plural verb, wodk,

Althmlgh this might SEEIT quim 5'tmpl.c, there are a few sinuations on the TOEFL es)
when subject/verb agreement can be a lictle tricky, You should be careful of subjeci fverb
agreement in the following situatons: (1) after preposidonal phrases, (2) after expressions
of quantity, (3) after inverted verbs, and (1) after certain words, such as anypbedy, reerpihing,
s ories somtething, eack, and ey,

SkiLL 20: MAKEVERBS AGREE AFTER PREPOSITIOMAL PHRASES

Sometimes prepositional phrases can come between the subject and the verb, 10 the object
of the prepasition is singular and the suhject is plural, or if the object of the preposition is
plural and the subject is singular, there can be confusion in making the subject and verh
agree,

The: key (o the doors) are® in the drawer,

SlWGLULAR FLIURAL

The E {1 the door) is* in the drawer.

PLLIEAL EINCLULAR

{* inclictes an error)

In the first example you might think thae doers is the subjoct because it comes directly in
fromt of the verb are. However, doors is not the subject because it is the object of the prepo-
gition o, The subject of the senence is key, so the verb should be is. In the second example
vou might think that deor is the subject becanse it comes directly in frone of the verb i You
should recognize in this example that door is not the sulject because it 15 the object of the
prc]}n;itinn 0. Because the sum'cct of the sentence is kg}-e:, the verb should he e,

The following chart outlines the key information that you should understand about
sulject/verb agreement with prepositional phrases:

SUBJECT/VERE AGREEMENT WITH FREFOSITICMNAL PHRASES

é {prepositional phrase} ":F

When a prepositianal plivase carmes between the subject and the verb, be sure that the verb aprees
with the subject




EXERCISE 20: Each of the following sentences has one or more prepositional phrases
between the subject and verb, Circle the prepositional phrases, Underline the subjects
once and the verbs twice, Then indicate if the sentences are correct (C) or incorrect (1),

—C 1. The climbers (on the sheer f;wc) @f the mouulai@ 'l“id. t0 be rescued,

—_ 2. Theinterrogation, conducted (by three police officers,) have lasted for several hours.

—— 3, The tenantsin the apartment next to mine is giving a party this evening,

—— 4. The president, surrounded by secret service agents, is trying to make his way to the

podium.

—— 5 The buildings destroyed during the fire are being rebuilt at the taxpayers” expense.

SxiL 21: MAKEVERBS AGREE AFTER EXPRESSIONS OF QUANTITY

A particular agreement problem occurs when the subject is an expression of quantity, such
as all, mast, or some, followed by the preposition of In this situation, the subject (all, most, or
some) can be singular or plural, depending on what follows the preposition of.

All (of the book) was interesting.
SINGULAR

All (of the books) were interesting,
PLURAL

All (of the information) was interesting,
UNCOUNTABLE

In the first example the subject all refers to the singular noun book, so the correct verb is
therefore the singular verb was. In the second example the subject all refers to the plural
noun books, so the correct verb is the plural verb were, In the third example the subject all
refers to the uncountable noun information, so the correct verb is therefore the singular
verb was.



The following chart outlines the key information that you should understand about
subject/verb agreement after expressions of quantity:

SUBJECT/VERB AGREEMENT AFTER EXPRESSIONS OF QUANTITY

of

most ' '
OF THE (OBJECT) \/

some

half

When an expression of quantity is the subject, the verb agrees with the object,

EXERCISE 21: Each of the following sentences has a quantity expression as the subject.
Underline the subjects once and the verbs twice. Circle the objects that the verbs agree
with, Then indicate if the sentences are correct (C) or incorrect (I),

L 1. The witnesses saw that most of the (fire)in the hills was extinguished.
—L_ 2. Someofthe from the zoo was released into the animal preserve.

—— 3. Allofthe students in the class taught by Professor Roberts is required to turn in their

term papers next Monday,
~—— 4. Half of the food that we are serving to the guests are still in the refrigerator.

—— 5. We belicve that some of the time of the employees is going to be devoted to quality

control,

SkiLL 22: MAKE INVERTED YERBS AGREE

We have seen that sometimes in English the subject comes after the verb, This can occur
after question words (Skill 15), after place expressions (Skill 16), after negative expressions
(Skill 17), after omitted conditionals (Skill 18), and after some comparisons (Skill 19).
When the subject and verb are inverted, it can be difficult to locate them, and it can there-
fore be a problem to make them agree.



Sk, 23: MAKEVERBS AGREE AFTER CERTAIN WORDS

Certain words in English are always grammatically singular, even though they might have
plural meanings.

Everybody are going® to the theater.

Even though we understand from this example that a lot of people are going to the the-
ater, everybody is singular and requires a singular verb. The plural verb are going should he
changed to the singular verb is going.

The following chart lists the grammatically singular words that have plural meanings:

SUB|ECT/VERB AGREEMENT AFTER CERTAINWORDS

These words or expressions are grammatically singular, so they take singular verbs:

__ anybody everybody nobody samebody  each (+ noun})
anyane everyone  noone someone every (+ noun)
anything everything nathing sormething

EXERCISE 23: Each of the following sentences contains one of the words that are gram-
matically singular but have plural meanings. Underline these words once and underline
the verbs twice. Then indicate if the sentences are correct (C) or incorrect (1).

—1_ 1. Itisimpossible t believe that somebody actually admire that man.

_£ 9 Each of the doctors in the building Lﬁds to have a separate reception area.

—— 3. The president felt that no one were better suited for the position of chief staff advisor.
— 4. Everybody participating in the fund-raiser are to turn in the tickets by 8:00.

—— 5. Because of the low number of orders, nothing has to be done now.

TOEFL EXERCISE (8kills 20-23): Choose the letter of the word or group of words that
best completes the sentence.,

1. Among bees a highly elaborate 2. heated by solar energy have
form of communication. special collectors on the roofs to trap
(A) occur sunlight.

(B) occurs (A) Ahomeis

(C) itoccurs (B) Homes are

(D) they occur (C} Ahome
(D} Homes

Choose the letter of the underlined word or group of words that is not correct.

— 3. Each number "___ binary system are formed from only two symbols.
A B [H D

4. Scientists at the medical center is trying to determine if there is a relationship
A B [

between saccharine and cancer.

D




——— 5. On therim of the Kilauea volcano in the Hawaiian Islands are a hotel called the
A B T D

Volcano Hotel.

—— 6. The great digital advances of the electronic age, such as integrated circuitry and a
A B

microcomputer, has been planted in tiny chips.
< D

——— 7. There are many frequently mentioned reasons why one out of four arrests involve a
A B C D
juvenile.

——— 8. Kepler’s Laws, principles oudining planetary movement, was formulated based on
A B [9)

abservations made without a telescope.

D
— 9. Only with a two-thirds vote hy both houses are the U.S. Congress ahle to override a
A B C
presidential veto.
D
— 10. ©Ofall the evidence that has piled up since Wehster's paper was published, there ij no
A B

new ideas to contradict his original theory.

© T

PROBLEMSWITH PARALLEL STRUCTURE

In good English an attempt should be made to make the language as even and balanced as
possible. This balance is called “parallel structure.” You can achieve parallel structure by
making the forms of words as similar as possible. The following is an example of a sentence
that is not parallel:

I like to sing and dancing.*

The problem in this sentence is not the expression fo sing, and the problem is not the word
dancing. The expression to singis correct by itself, and the word dancing is correct by itself.
Both of the following sentences are correct:

1like to sing.

I like dancing.

The problem in the incorrect example is that to singand dancing are joined together in one
sentence with and. They are different forms where it is possible to have similar forms;
therefore the example is not parallel. It can be corrected in two different ways: we can
make the first expression like the second, or we can make the second expression like the
first.

I'like to sing and to dance.
I like singing and dancing.



SKiLL24: USE PARALLEL STRUCTURE WITH COORDINATE
CONJUNCTIONS

The job of the coordinate conjunctions (and, but, or) is to join together equal expressions.
In other words, what is on one side of these words must be parallel to what is on the other
side. These conjunctions can join nouns, or verbs, or adjectives, or phrases, or subordinate
clauses, or main clauses; they just must join together two of the same thing. Here are exam-
ples of two nouns joined by a coordinate conjunction:

I need to talk to the manager or the assistant manager.
She is not a teacher buta lawyer.
You can choose from activities such as hiking and kayaking.

Here are examples of two verbs joined by a coordinate conjunction:

He only eats and sleeps when he takes a vacation.
She invites us to her home but never talks with us.
You can stay home or go to the movies with us,

Here are examples of wo adjectives joined by a coordinate conjunction:

My boss is sincere and nice.
The exam that he gave was short but difficult.
Class can be interesting or horing,

Here are examples of two phrases joined by a coordinate conjunction:

There are students in the classroom and in front of the building,
The papers are on my desk orin the drawer.
The checks will be ready not at noon butat 1:00.

Here are examples of two clauses joined by a coordinate conjunction:

They are not interested in what you say or what you do.
I 'am here because I have to be and hecause I want to be,
Mr. Brown likes to go home early, but his wife prefers to stay late,



The following chart outlines the use of parallel structures with coordinate conjunctions:

PARALLEL STRUCTUREWITH COORDINATE CONJUNCTIONS

and
(same structure) but (same structure)
ar
and
{same structure], (same structure), but {same structure)
or

EXERCISE 24: Each of the following sentences contains words or groups of words that
should be parallel. Circle the word that indicates that the sentence should have parallel
parts. Underline the parts that should be parallel. Then indicate if the sentences are cor-
rect {C) or incorrect (I).

—1 1. Sheheld jobs as a typist, a housekeeper, in a restaurant.

—C_ 2. The report you are looking for could be in the ﬁlcnn the desk.
___ 3. Sheworks very hard but usually gets below-average grades.

— 4. The speaker introduced himself, told several interesting anecdotes, and finishing with

an emotional plea.

. You should know when the program starts and how many units you must complete,

SkiL 25:  USE PARALLEL STRUCTURE WITH PAIRED CONJUNCTIONS

The paired conjunctions both...and, either... o neither...noy, and not only... bul also require
parallel structures.

I'know both where you went and what you did.

Either!. tk orSue has the book.

‘The tic. 21s are neitherin my pocket norin my purse,

He is not ondy an excellent student bt also an outstanding athlete.




Thg following is not parallel and must be corrected:

He wants either to go by train or by planc®.

It is not correct because fo go by train is not parallel to §y plane. 1t can be corrected in several
ways,

He wants either to go by train or to go by plane.

He wants to go gther by train or by plane.

He wants to go by ather train or plane.

When you are using these paired conjunctions, be sure that the correct parts are used
together. The following are incorrect:

1 want datk this book or® that one,
Either Sam wor* Sue is taking the course,

These sentences are incorrect because the wrong parts of the paired conjunctions are used
together. In the first example, and should be used with foth. In the second example, or
should be used with either

The following chart outlines the use of parallel structure with paired conjunctions;

FARALLEL STRUCTUREWITH PAIRED CONJUNCTIONS

bath and

eit..her [same structure) or (same structure)
neither nor

not only but alsa

EXERCISE 25: Each of the following sentences contains words or groups of words that
should be parallel, Gircle the word or words that indicate that the sentence should have
parallel parts. Underline the parts that should be parallel. Then indicate if the sentences
are correct {C) or incorrect (1),

. According to the syllabus, you can wﬁtc A paper @ you can take an cxam,
_L 2 Itwouldbe noticed appmci,ated if you could finish the work before you

leave,

bl

She would like neither to see a movie or to go bowling.
—— 4. Either the manager or her assistant can help you with your refund.

. She wants not only to take a wip to Europe but she also would like to travel to Asia,

o



SkiL 26: USE PARALLEL STRUCTUREWITH COMPARISONS

When you make a comparison, you peint out the similarities or differences berween two
things, and those similarities or differences must be in parallel form. You can recognize a
comparison showing how two things are different from the ... thar or the more.. . than.

My school is farther than your school.
To be rich is better than to be poor,
What is written is mere easily understood than what is spoken.

A comparison showing how two things are the same might contain as...as or expressions
such as the same as or similar to.

Their car is as big 25 a small house.
Renting those apartments costs about bhe same of leaging them.
The work that I did is simélar to the work that you did.

The following chart cutlines the use of parallel structures with comparisons:

PARALLEL STRUCTURE WITH COMPARISONS

mare ... than
=er ... than
less ... than
as...as

the same ... a8
i« | simitar...t0

(same structure) i {same structure)

EXERCISE 26: Each of the following sentences contains words or groups of words that
should be parallel. Circle the word or words that indicate that the sentence should have
paralle]l parts. Underline the parts that should be parallel. Then indicate if each sentence
is correct (C) or incorrect (I).

£ 1. Hisresearch for the thesis was hers.
_1 o M in a restaurant is w at home.
—— % Iwantanew secretary who is as efficient as the previous one.
— 4. Whatyou do today should be the same as did yesterday.
— 5. This lesson is more difficult than we had before.

TOEFL EXERCISE (Skills 24-26): Choose the letter of the word or group of words that
best completes the sentence.

1. Truman Capote's fn Cold Blood is neither 2. Vitamin C is necessary for the
_'fcurn alisu'call}r accurate prcw:nlinn and of scurvy.
(A) a piece of fiction {A) itcures
{B) nor a fictitious work (B} cures
{C) orwritten in a fictitious way {C) cure

(D) nor completely fictitious (D) for curing



3. Ahbaby’s development is influenced by 4. Because bone loss accurs earlier in

both heredity and . women than , the effects of
(A) byenvironmental Eactors osteoporosis are more apparent in
(B) environmentally women.
(C) the influence of the environment (A} mendo
(D) environment (B) inmen

{C) asmen

(D} similar to men

Choose the letter of the underlined word or group of words that is not correct,

— 5. Fire extinguishers can contain liquefied gas, dry chemicals, or watery.
A B T D

— 6. The U.5. Congress consists of both the Senate as well as the House of Representatives.

A B [# D

—— 1. The prison population in this state, now at an all time high, is higher than any state.
A B C D

—— 8. Awellcomposed baroque opera achieves a delicate balance by focusing alternately
A B

on the aural, visual, emotional, and philosophy elements,
D

—— 9% Manufacturers may use food additives for preserving, to color, to flavor, or to fortify
A B C

foods.
D

—— 10, Abankruptcy may be either voluntary nor inveluntary,
A B G D




